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1. The slope of the tangent line to the curve y = e + z at the point (0,1) is
given by

(a) lim —F—— -0

(b) lim

(¢) lim

(d) lim

2. Which one of the following statements is TRUE?

(a) lim f(z) = oo i

z—0
(0) Jim f(z) = -2

() lim f(z)=0 _ 21

rz—1
. F

(@) lim f(z) =1

-4 =3 -2 A 0 i\
——— a - y o= o cemm o e -0‘

z
2
(@) lm f(z) = oo N i

1 -3
lim £ DVE . |in fog = 2 |
K-> -3 ‘ x._:)q_ = i -
lim L) = o a
N L

Lo ~F
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5 I Ve +8—-3
z—1 z—1
i T8 =3
X~|
N A | |
© 5 L -3 m*g)
) = lim e
) 3 ] X1 g 3
L * x4+8 -9 S
© = [im \ ﬂ
X x5 (1) (Vieg +3)
(d) 3
(e) 1 = [\m "/1_""

9 - e (£-1) = -L
) -1 GRS
e =2 lin [ 2] =
(c) 1 X\

(d) -2

(e) does not exist
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5. Let
3— %x if <2
flz) =
vr+c if z>2
If lim f(x) exists, then ¢ + 3¢ — 7 =
[I}r\ ) = [ m+-]C0)
b) -3 - :
2 hm [y = [im_(B-%»: 2
(¢) 0 X2 xo2
(d) -5 Lim *{'Cﬂ:ll‘mi_\} xte = VATC
a x4t ) Xk
(e) 10 :—> 2= ‘,L"EC =D CcC=2
T, Cr4 3= 7
6. 2 1

lim z° cos = =
z—0 T

(a) 0
(b) 1
(c) 2
(d) does not exist

(e) —1

o € Cost sl forany 130

po—

2 7 2
=> —)tf.:)(.cos-;(—é”*Q

\ 2 A -2
fin 2= 0 and _lin () <
L0 x>0

\ 7
= lm X sy =0
X9

by squeeze theorem
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7.

Jim (5 + 2 — 62°) =

[lm(Sﬂf 61)-(|m x_(s p L -)

(8) —oo y g X2 x5 XM
(b) 0 = - i
(c) —6 Sinee  lum L“ =0
AP X w
xr£ X
(e) oo

Let f(z) = 42 — 3. A possible value of § such that if 0 < |z — 2| < 6, then
|f(z) =5 <1is

(a) 0.23 | Jo-s| <!
(b) 0.50 & [ ux-3 -5) <|
0.33 & | y(x-2l<!
(c) O. é-_) l,)('__z" < L
(d) 0.75
NDW‘ et Y "lLLW\LL?/r‘ S suwch
(e) 0.27 o<&<t -

1P l-2fcs | Han [€on-S] <.
W 52023 ba posichle
chover o §-
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1—Inzx . ]
1S contmuous on

..C is COY\)C\:Y\MBMJ o I't'

9. The function f(z) =

(8) (0,€)U(e,00) domain of dafunction -
(b) (0,00) 9(?:{5“5@/ x70 owd ﬂ;e}
() (0,4) = (o, €) (e, *)

(d) (1,2e)

(e) (—o0,€)U (e, c0)

10.  Using the Intermediate Value Theorem, the equation z* —z = 2 — /7 has
a root in the interval

Leb Lzt —x +/x—2 -

) 1,2 L & ontcnusus o [0,9)

(b) (0,1) £)==2 ; 4= -

(c) (2,3) £()= 4 +V2

@ (.4 2’;}22?&

(e) (2,4) The %a];m L =o heo a

ool 1n +he tntored (1,9 b)
the inteunedoate volue Horem
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11.

12.

lim tan™! ——1 +42° =
T——00 1 —2g3
ll;h —_l’_\'_ld’ié = ‘lW\ lDC' —
w? o T e
. 3
(b) E = (IW‘ -K ';Z},"t'l"
© = TR Py
- L2
4 =X ” x
@ 5 =4 .
@ ~ B‘*’r( 4«5'(4\ /4y
; 5 lin o (VTE) = T
XA = ~220
R )
et f(@) = e gr 52

Which one of the following statements is TRUE?

(a) f has a removable discontinuity at £ = 2 and an infinite discontinuity at £ = 1
(b) f has two removable discontinuities at £ = 1 and x = 2

(C) [ has two infinite discontinuities at £ = 1 and x = 2

(d) f has a removable discontinuity at £ = 1 and an infinite discontinuity at T = 2
(e) f has a jump discontinity at £ = 2 and a removable discontinuity at x = 1

foe &%) L fe)= b 25l =3

pad
BVE =y 2
(X .‘)Cx‘l\ md Lk £o) = L. XEL = 2P
e rm— x._%|* ‘x—*ﬁ_ fx__‘ "

/1‘“9 1<2 1§ a remOVaUe A,LSwnj‘nmu.H

X=l O an mfaike ditconhiawty
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13.

14.

9e* + 2

All the horizontal asymptote(s) of the curve y = ez — 1 is (are)
) X gy
. ~U
1 lu 4428
(b) y=3andy=—z rar 3 —ih ¥
=49=3
(¢) y=3only < 3
(d) y=9andy = 1 TA-F 32\_(,‘ -4

'_ﬁWV), ‘):3 aw\é B:--‘Z,M
Hhe (aonymhﬂ M-’m\r)u’w

() y=—-3andy=2

If the tangent line to the curve y = f (z) at (4, 3) passes through the point

(0,2), then f'(4) =

B
() - 3% -
£l 7= =

(a)

e

(b)

roan

(c) 1
W o tha v
(d) —4 (GL() m

o

—

i
h
it

S

(e) 0
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15.

16.

Suppose you know that the derivative of tan z is sec? z for all z in its
domain. Then
. tanz—1
lim —— =
=% 4dx — 7

h‘m %ami -

I X~

1
(a) 5 2

2 = lim W""La“@: s*a:(‘%)
(b) 2 %—a% -y _ 2
(c) 0 ::7 [ll\m 4‘64/\1'_( - Z:L] = -2(—~
(d) 1 xaf (x -w)
(e) —2

32 if z<1

If fz) =9 ar’—bzr+3 if 1<2<3

2r—a+b if >3

is continuous on (—o0, o), then f(2) =

<C (\5 cor\tb'nqm dx:l and =3

(a) 4 lim 6= lim L&) => 3= a-b+3
(b) _3 K- \‘ A=t

W £6) = [ L) = Ga-3b43=(-a+b
(c) 8 = )L—v:\';‘(' ") >
(@) 0 a-b=o 5 a=b=1
© 5 l0a - itb=3

T, 21210 L2143 = 4
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17.

18.

If f(z) = z|z — 1], then £’ (1) =
(The left-hand derivative of f at 2 = 1)

§‘(|); lim L@

x>\

(a) —1 ~\

o i 22
T e -
() 0 o
—n et
d) 2 = lim Z‘,(;—:.—?—
(d) WA
(e) does not exist i —X
A ("

:fi

34z
3r — 222
Which one of the following statements is TRUE?

£ = ’L@)——

Let f(z) =

(a) lim f(a:) x (%~ 2x)

\lb:ﬁ @(X) twy, 2"_:‘:-1- ==
(b) il_{)r(l) f(x) does not exist X3 }7: + o _}j’ 2, - 1Y
_(C) iii%f(x):oo £ han ave/r‘?\cap

(d) f(z)has vertical asymptotes at z = Qand z =

T
. s 4 S O = SR
(e) f(z)has no vertical asymptotes hW‘ @OC) - llm = =
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) 1 1
19. 1 =
xg}(m—1+x2~3x+2>

l

Loy =L

ol e AT (-2
(a) —1 _ x—
(b) 0 (r=1)(2-2)
(¢) oo , ‘m J_+ U \ 2
@ @M[ .| A1) @ol) (’)l~'l)
d) 2

=\ 4

() —oo ns, ¢

— '
a——

20. Let f(z) = ﬁ; Then Jim flz+ h}z —fl®) _

1 L{x+h) ~ £
T \4,-&? h
(b) —= = lum \-wuk L+
1+ z) hD O A
(c) i f$)2 = i __Q“):(W\ - x (vexth)
~ h-0 h ( exh) (4 )
@ m — lt , h
22 h 20 h (igxih) (o)
© Ty

= k' g“o ’(th)ﬁ;x]
A

Q)%

\
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